. Describe the various problems of Industrial
Development in India.

uRd | SiEnfier foaseme &1 gEened W YR S|

. Explain the characteristics of the Labour Statistics
Act, 1953.

g9 wifeast sfuf=m, 1953 & it &t fad=m sl

. What are the main causes of Urban unemployment

in India ?

IRA H I SRS & & 1 RO § 2

. What do you understand by Economic
Liberalization ?

ST SARIO | 379 91 T9ed § 2
. What is meant by Wages Statistics ? Define.
TSI THGl w1 N Ad § 7 fawR | wwemsu)

. What is Labour Absenteeism ? Discuss its problems
and suggest measures.

gfger srufeafa F1 § 27 TE®! GEES w1 SooE
F U TEIEE G |
. Explain the term ‘Labour Turnover’.

‘gfir o’ 9€ i FHSISY |
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Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.

- g7 T e o ‘A 1wl | fauifa ¥ v
TUg & FEIER g9 & WS

Section—-A 4x5=20
(Very Short Answer Type Questions)

Note .— Answer any five questions. As per the nature of
the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 4 marks.
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(iii)
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TAHAR T I, T a9 a1 Afusdhan 30 =g |
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Labour Economic

CLEC RN

Industrial Development
sirenfir fasma

Seasonal Unemployment
Tt SRy

Industrial Labour
sirEfier o4

Labour Statistics

99 HifeAeh

Small Scale Industry
SRS

(vii) Unorganized Labour

rafed o
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(viii) Heavy Industries

ORI ST

(ix) Unemployment Wages

SISTTRT 9T |

(x) Agriculture Labour

wfast 79I
Section-B 20x4=80

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries
20 marks.

Qg —d

(g AT T9)
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2. Discuss importance of Labour.

9H & Hed W THRT S |
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